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Addition Word Pr'oblems@

Answer the following addition word problems of
money.

(1. Michael has 4 dimes and his grandfather gives him 7 dimes. How much
money does Michael have?

Answer: 4 dimes + 7 Dimes = 11 dimes

2. Tina has 2 pennies. her mother gives her 8 pennies and father gives her 4
pennies. How much money does Tina have?

Answer.

3. Sam already has 9 nickels and his uncle gives him 4 nickels. How much
money does he have altogether?

Answer.

4. Jenny starts out with 4 dollars and wins 5 dollars. How much does she
have now?

Answer.

5. Lucas has 3 quarters. His aunt gives him 5 quarters and mother gives him
7 quarter. How much money does he have altogether?

Answer.

6. Oliver has $2 in his wallet. His father gives him $10. How much money
does Oliver have?

Answer.
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